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(c.) frvs mfuse{r +, s} }s i, irmr uk frer, u} m (r_;

*{ {fr (K) qr ssc}r tl* * <qo}, ts .rtt <rgi
qr ysr<q qrt ir snmr atar5c m rgt l, at< eer

s'qffEe iff rgr *r rn flBs fr fu ataryo i6
ur< I stt q(Fr m rrrr ir

(D *Rat-rmnfie* qun, e-mr *tfla*
&q qrm qr H wr *rn?

(ii) ft-r qRMad i qnr * ++ H + tu cnq.

1* vrr<ar *rt? (ro)

(u) n fu), s-{dt d{ ffis v< kqR dfrs, crie? c}
qfrq q* scftr + ftq xrqn-s-dr *r *t te*s d
T{qra sq+.r t frs nmfrt''ar *r .rto(d) 6 qac<r

i sq dfrs ft'qrqr< ft'q r6R rtt-qqq Gkc
*r (s)

(o') w ffird fr Bnffiq, v#6rq + 6nur i[ErR $ sron
+ Etr \olk6n qM qrmn i q{-wt + cRrnfr

* +t cqrk( o-'tfr *r Ao q'{ d s( il€ d
\+fiq t au d stor * uqf irq d 3o'en *<r
*? . (ro)

(e) <rrefrffi * ciq d wt€ ifr Rrrer t trsrtr
(o )
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of this question paper.

There ate two sections in the question paper.

Section A is compulsory.

From Section B attempt Any Four questions. AII
questions carry equal marks.

Use of a Simple Calculator is allowed.

Answers may be wrirten either in English or Hindi;
but the same medium should be used throughout the
p ap er.
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Er'i+tufr&r
r q6 ur;r-rrT * m ff scr RS ztC ffrrk tqrq .rt flT{T

rtrqrmRRq r

2. E( rfr-qrr rT qI lug ri,T rs t r

e ticsrqMlr
l. <(sct cHqncrfrfrs rqScf] * sr6'flrq* I

5. qrmur+qE+fi3cclr6 rgqfr 1,

6. rtrw-trdiil*, *rt*6ff FrOsFcI$+Afrq,tft{
$frv<tqtqlq{q6.fffrIqrBs l

Section A

This question has nine sub-parts, and all are

compulsory. All are short notes or one-line answers

or fill in the blanks. (9x2=18)

(i) The tariff rate that maximises the national

welfare of an economy is 

-.
(ii) The pharmaceutical sector of a country reports

$ 250 million as exports and $ 150 million as

imports. Calculate the index of intra'industry

trade of this sector.

15

(q) w ffift frcf, + vflt i- a d, ffi+s tk iT&
ctfrqR d&qr cr{flfrs fr'c{&{Ws frga-tr
{ grro *t fr ilt{ sfttc'ifi-dl orEr *r iff uk
EmR 6 qRRffi Ettr( gHr{{ {RRfrft t vq' ffirt
ir

(i) w fusq dt tnri Ec,wr ({*s Tf ilrdr +

o=q-*ofr qr ffrr-iot vtqm qRRM c}
ffiic,.{+fr qfrotrilT{r&r? ae g€-dT

* qlq lEId + frcF + teil { ac+ Tfri 6}

sE-d 6f,{E}t

(ii) ir<, al{ mfrs fr t{e t {S q attlR d
arrrr ffi *r w 1a gc-cr * k{effi{r d *+
sqrkd stln? tt qRs-& * cqls 61 ffi Es,

ffi ffi + frs {tq xr wqffi stt cflr qt{q

qqn+r x++' tn d grm qM ft flE{a
ryffi + iltff t-dr qr ar *<r *?

(o + o=tz )

1e) qR tsr - crf,, fd{d{rc, fliird qk ,iqr if,'.Fl: 35,

s0, 20 gtr 15 dt 3ilE;r ilFFr q( i{Iq x['I sflrdm fi+
ir vqfr ffia c{ rnt{ rNr qfi l, r*o'tql E".m:

40%o, 30o/o, 20% gtt lo% fr r{rq * grqrr q<

larXw< tfu E|r<r *r wq flfrs rnct sk frTdqr{

v.6 Iffi qIqR walt rR rGmf,t q€ Sr wr ifst
qqR Etrt *rn qr qnr< Gs.tr{ *qr? (o)
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(i) ?sifrqr f,t{ vifr{r ++ + frs fiffsF de
dfrqr

(ii) sR& *t qns(sfiKF{mGs ftr.dirrflSw

Ts an dfrqr

1ii1 wr w frS vt wfr crt Y'{ e{iqrdr t?

(iv) ffi w trr * frr" r{,'( t A+ cr& drq} 6}
ffirfrq rq i rrfe frfrsr

(z+a+z+s=ts)

(e) frwe.*tft gtr ot w ft. tqoft frfrqr (s)

(o.) vo tn i <q*, t( qt *G ffi serqa q(dr tr
t{ cr s-oret .:F *< ryq tr sc+rr o'd frqr umr

A, uqfr e$ cr v*na iff *r ryq qr ssftr 6{+
frqr qr<r *r ryq fr] ** * ft zrftfi-o *r sR-Tgqt{r

sfrqq qr sqftr q,6, ffi H I ryq * flTc{ d
qrer dfrqr oG d <riq frq-d {.d+ c( q6 ++
c-{drfl i? stqrEr * ql.d} + rslRrh- tR E(Ffi'r @r

vqrs q.{fl ti (ro)

(q) qE r.*'R- +(c6rDo'R uk + sR t ffRn i, *
sCqrqn ffi *qnr+d wt6}cr 6ga-<r{ tfu
q} vrqfro-<r tfi qBsr g.[' Frr.r.fi' srt€ * qlq Et

sq dtssr (a)

(iii) What is the rationale behind vertical foreign

direct investment?

(iv) A country imposes a 42o/o tariff on refrigerator,

which has a world price of $1,000. The

production of a refrigerator requires components

that are imported at a world price of $600. These

components are subject to a l0Yo ad valorem

tariff. What is the effective rate of protection

enjoyed by the sector producing refrigerators?

(v) In 2016, negotiators from twelve countries

around the Pacific Rim, including the United

States but not China, agreed on a proposal for a

hew economic agreement called the

(vi) In an empirical study published in 1953 on

exports and imports of the United States in the

1940s, it was revealed that eiports were labour

intensive and the imports were capital-intensive

in nature. This is referred to in econohic
literature as 

-.
(vii) Dynamic increasing returns to scale occur when

the cost of production falls as a firm's

increases over time due to learning and

experience.
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(viii) The United States put a ban on imports of tuna

from Mexico that were not caught with nets,

which were safe for dolphins. So, in 1991,

Mexico appealed to the GATT against this ban.

What was the outcome of this sase?

(ix) If a firm faces a marginal cost of cl and a

trade cost of t, and sets a domestic price Pl and

an export price of Prx. When is the firm's export
pricing considered as dumping?

(a) When Prx - c, t- t

(b) When Prx t < Pr

(c) When Prx = Pr+ cr

(d) When Prx = Pr - c,

Section B

Attempt any 4 questions from this section.

All questions carry equal marks.

(a) Consider country Ironvia producing a metal Alloy
Z. ln the production of Alloy Z, it releases a by
product T, which pollutes nearby water bodies and

harms aquatic life imposing a negative externality.

l3

111 E< vnwt * qIuR q(, qrqR + H qt wt
d&qr Fre rgc-+ ae st( qrqR d rt?r ilr
*'ft?

(ii) ffi dftq ft srqrr q"E qrdr ?rr vR Esr{ 20

qr ?Rr ernm *r \q. Eqsfud Gc t esil fts
ztg irtrE * ffac t, ilqre q,,d sA ?n, tr-d
t''A sr+ t{r ifu +{ a ff{q qrqr cr E( eRqt

d crns c{ sql d&sr (ro)

(a) <) ilfr-, vmfrn flt Hfr{r t qrq q6'frmr€rr{

ifua qr frsK Efifrs, u) n qEs) qir iilrqq q'T+ +c

cff fit{ qr{r ++ H } cq*ffis} * srs qk

crqfu cqr-{ *, +{r fr scAft-dr E-dr;r I (y€,
sr{) = qtRrqlt aT +Eq( ftqr rrqr *r Eor{ q.{ ifr
qFrc.ltE-dts rs q-sR

t{r dtx oLv

HB-{r 4

qmfr-{r I

ctr d fr HfrcI t r,ooo q{qrt I qk qfifrqr t
Ioo 6iffi Sl
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rFc a

E(rsst++Slft4yf{Eddfusl
q!ft cri'* as' wr;r *r

(q) aE n:rqg z qr ysra t'd sr* qur+ fu q( frqR

6frsr ffnqg z * vsrerl, qr s6.s+flrq r ilt
q,r<r l, * flRr-\r( 4; s6 ffi cil qR.d 6.rn

t *( lrfrc Sr{ c} prn ctr{rdr *, &q+ q6mil6

cr6t rqrs v.sar fi 1m qrqn * frs fl{eqtvr +
gei * mr, qu ?u frryqE z r[T qr.ntro ?Fr vrdr

*r su' qt€ 6 rcc i qmnt fr ff* ag z or
gR qFrR E( t{r 6} +t trtrr qqr r6-ff *r

(a)

(€) t( utqrqs q] trft-, e *t s q{ frqn *frqr a+-

itn* + {tu *{ inryfi fr ffi fri ff rr{ l

With the opening up ofthe economy for free trade,
this country becomes an importer for Alloy Z.
Illustrate with the help of a diagram how free
trade of Alloy Z might make this country better
off. (8)

(b) Consider two countries, A and B, producing wheat.

Demand and supply conditions in the two countries
are given below :

6037 5

Country A:

Country B:

DD: Qu = 1000-2P

SS: Q. = 296*r,

DD: Qo = 369-2P

SS: Q" = 400+2P

?sr A.:

?n e:

DD: Qo: 1000-2P

SS: Q" -- 200+2P

DD: Qo : 800-2P

SS: Q": 400+2P

(i) Given this information, discuss the pattern

of trade. What will the world equilibrium
price and quantity be traded?

(ii) Srpro." the importing country imposes a

per unit tariff of 20. Through a neatly
Iabelled diagram, discuss the impact of this
tariff on the importing country, exporting
country and the world market of wheat.

( l0)
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3 (a) Consider a Ricardian model with two countries,

Agrofina, and Technofina, producing two goods:

X and Y. The tastes and preferences of the

consumer's in both countries are the same, as

captured by the utility function U (X' Y) = XY'

The unit labour requirements are as follows'

Country 4r-x alv

Technofina 4 5

Agrofina I 3

Assume Technofina has 1,000 workers and

Agrofina has 100 workers.

(i) Plot the PPFs for both Technofina and

Agrofina.

(ii) Plot the RD and RS curve and find the

equilibrium relative Price

(iii) Do we have complete specialisation at this

point?

(iv) Iltustrate algebraically the gains from trade

for one of the countries. (2+8+2+3:15)

(vi) reao d q{r6 t (gff {@ i[tR'6r + ffia str srcta

rR 1953 + n'olRrd qc, qlqs-s-q ftrtq;r i, qt .|-dI

qar w ft.ffr cm {ffi t *r srcrd nTR t iS
rrrrr tr Et ifltr6 crFs + 

- 

* rq t
reFfd frql Brar *r

(vii) rrRrta r6-t ffi qr m EE *tr * vs ffi sk

nTr{ + 6R!T s"{ * 

- 

rrqq * srq (d+

tR vF[iFr fr arrre frt vrfr

(viii) qgm rrq qtfur +tffi t q{r + ql4rn cr vffi
firn Eqr, q] qro t cff.r6_t rtS +, u] ffit + frq
g{kd tr rtfrg, tcct i', nM 16s Yfrtu *
furq. fu I irfto dr E( q[{e 6,I qfum wr qI?

(ix) uP ffi E{ d fud amt ct sk qrrtr Ftnkr t i6t

qrriT r6'(;tr r.s-dr *, *r sE *{. {cq pt gtrr ffid
TzI Prx frdiRH qlff *r q{ + ffi {€ frukq ci
ffT qs qtqr vrdl t?

(s) v{ P'x: cr + t

(c) v{ P'x- t < Pr

(q) qs Ptx : Pr * cr

(e) v< ftx= Pr- cr

inN coLIE

E
*

w Delh(b) Write a short note on Immiserizing Growth'
(3)
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GTS SI

qtl vrr + ql sc-qrr *, qk ffi iflM il qS ffiq
tqFrdf qr \'6'-ft * wrr I qr k F{rq Qr

(9x2:18)

(i) fr'& q{-qetur $ rr$q o.sm 6} €rEoilc o.'t+-<rff

ttu'e< 

- 

*r

(ii) fr6 t$ or mntqEs-d ** zso fffrarr.{rn mr

ftda sk 15s frfr€m dm qr srqrd q'ccr *r w **
+ ffd(-s+{r qrqn * W6m d qurqr ff"rqr

(iii) sairr( Gtdt y-sq frtvr + fr& er <-d *?

(iv) vq, ?$ 1D'*6( rR 42% tfr6'orntr i, frru* A{s

fr{fr r,ooo d-cn *r t&cftrr * stqrr< + frs t+
E +1' d iflFrnrfiin dlfr * frr* ooo drpn 6 fe{s

ffra .r{ qrqm ftlt qrar *r t qc6' ro% {FqFR
efrs + gri-{ fi lff*ct qr irercr q,,{+ cd e"
EM IilR IREIq fr I|rr& q( WT *?

(v) 2016 +, vqre nq * qrscm t cRE ?* + srdtfrril,

frq+- qgfr 1rq siRor S lrfud qr, ifr-t {-c;rff
sr, * 

- 

qrq6'vs.q'q !ffiisi tqfllt A
n€nq q{ t-rqR qm dr

(a) A country produces two goods, wheat and cloth.

Wheat is produced using land and labour, while
cloth is produced using capital and labour. Labour

is mobile between the two sectors. Using the four-
quadrant diagram, explain the allocation of labour

across the two sectors. How does it change when

the relative.price of cloth increases? What

implications does this have on the owners of the

factors of production? ( l0)

(b) If the Governments ate concerned about domestic

monopoly power, they should prefet tariffs to

quotas as instrumetrts of trade policy. Explain the

same with a necessary diagram. (8)

(a) Consider two countries, Sunlaad and Rainland, in
the context of an offshoring model. Assume that

Sunland has a higher relative productivity of skilled

labour compared to Rainland. The extra cost of
capital and irade is uniform across production

activities.

(i) Given this setup, will Sunland be more likely
to offshore high-end or low-end production

activities in the value chain? Justify your

answer with reference to the positioning

of tasks along the value chain.

ti03 7 7
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(ii) Now, suppose that the cost of capital or

trade falls in Rainlaod. How will this affect

the slicing of the value chain? Draw relative

labour supply and demand diagrams for the

two countries, showing the effect of this

change. What happens to the relative wage

of skilled workers to unskilled workers in

each country? (6+6=12)

(b) Four countries - India, Vietnam, Brazil and Kenya

produce tea at a unit cost of production of 35, 30,

20 and 15, respectively. While there are no

restrictions on exports, each country imposes an

ad valorem tariff or imports of tea of 4O%, 30%,

20%o, md 100/o, respectively. Suppose India and

Vietnam sign a free trade agreement. Will this

lead to trade creation or trade diversion? (6)

(a) In the world economy, there are two countries,

Alpha and Beta, that produce two goods, bread

and soap, using labour (L) and capital (K). Alpha

is relatively labour abundant, and Beta is relatively

capital abundant. Assume that bread is relatively

capital intensive and soap is labour intensive.

7

(i) According to the Heckscher-Ohlin theorem,

what will the pattern of trade be between

Alpha and Beta?

(ii) Under what condition(s) will trade lead to

factor price equalization between the two
' countries? ( 10)

(b) Consider two countries, Funland and Rockland,

Funland has a preference for consumption in the

future. and Rockland has a preference for current

consumption. Illustrate how trade is intenemporally

balanced with the help of diagram(s). (8)

(a) Explain how an increase in market size due to

economic integration affects firm-level outcomes

in a monopolistically competitive market. Why do

some firms gain while others lose from such

integration? ( l0)

(b) Explain Rybczynski's Theorem with the help of a

diagram. (8)

6
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